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. }*‘5‘ - Bisectors of Triangles

and

Medians & Altitudes of Triangles

You will identify and use perpendicular bisectors and angle
bisectors in triangles

You will identify and use medians and altitudes in triangles




Perpendicular Bisector
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Perpendicular Bisector Theorem and Converse

' A ——t——8
If CDis a_l bisector of AB, \ /

Then H( = O E

If AE = BE, then é_lies on@,
the L bisector of AB.



Use the Perpendicular Bisector Theorems

A. Find BC. ¥ 5~ B. Find XY.
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C. Find PQ.




Circumcenter Theorem
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If P is the circumcenter of AABC,
then YB =¢{A =°PC




Angle Bisector
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Angle Bisector Theorem and Converse

D
If BF bisects <DBE, FD1.BD, and
FELBE, then £D = /F B -
E

If FDL_@D’, FEL1BE, and DF = FE,
then J5C bisects Z H ~
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Use the Angle Bisector Theorems

A. Find DB.§— B. Find m-WYZ.







Incenter Theorem |
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If P is the incenter of A ABC,

then DF = Pf = £

D




| Use the Incenter Theorem

B. Find mZSPU if S is the incenter
of AMNRP. |




Median P(

JL (”’ ex 4o
N A{Pb! AT DF ) -
OQ P S ;«:J 2_
C F 5
Name the point of concurrency_ " C/ Y176 J




Centroid Theorem

If P is the centroid of AABC, then

AP =MBP =Q_’fL and CP =£
AR=3 K BL=3RL | CE3RT




Use the Centroid Theorem

ah
In AXYZ, P is the cc=3ntr6|—czzl7 'm IIn AABC, CG =4. Find GE.

and YV =12. Find YP and
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In AJLN, JP = 16. Find PM.
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Altitude
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ConceptSummary Special Segments and Points in Triangles

Point of

coml.l'rmcy_ Special Property

perpendicular

angle bisector

' The circumcenter Pof

circumcenter

~ AABCis equidistant

mmm

~ The incenter Qof AABC

i equidistant from each

 side of the triangle.

' The centroid A of AABC
" is two thirds of the

~ distance from each

 vertex to the midpoint
- of the opposite side.

4474

The lines containing the
altitudes of AABC are
concurrent at the
orthocenter S.




Assignment
Page 327: 1-3, 5-7, 9-14

Page 337-338: 1, 2, 5-10



